
61. Which one of the following pairs is not correctly matched? 
Month Position of Sun 
निम्िलिखित में से कौि-सा युग्म सही समेुलित िहीीं है? 
सयूय की माह स्थिनत
(a) June : Midday Sun overhead at Tropic of Cancer 

जिू : ककय  रेिा पर मध्याह्ि का सयूय उपरर
(b) December : Midday Sun overhead at Tropic of Capricorn 

दिसींबर : मकर रेिा पर मध्याह्ि का सयूय उपरर
(c) March : Midday Sun overhead on Equator 

मार्य : भमूध्य रेिा पर मध्याह्ि का सयूय उपरर
(d) September : Midday Sun overhead on Arctic Circle 

लसतींबर : आकय दिक सकय ि पर मध्याह्ि का सयूय ओवरहेड



62. Assertion (A) The tidal effect of Moon on the surface of Earth is less than 
that of Sun. 
िावा (A) पथृ्वी की सतह पर र्ींद्रमा का ज्वारीय प्रभाव सयूय की तुििा में कम है।
Reason (R) Moon’s gravitational pull at Earth’s surface is less compared to 
Sun’s gravitational pull. 
कारण (R) पथृ्वी की सतह पर र्ींद्रमा का गरुुत्वाकर्यण खिींर्ाव सयूय के गरुुत्वाकर्यण 
खिींर्ाव की तुििा में कम है।
(a) Both A and R are true and R is the correct explanation of A 

A और R िोिों सत्य हैं और R, A की सही व्याख्या करता है
(b) Both A and R are true, but R is not the correct explanation of A 

A और R िोिों सही हैं, िेककि R, A की सही व्याख्या िहीीं करता है
(c) A is true, but R is false  / A सर् है, िेककि R झठूा है
(d) A is false, but R is true  / A झठूा है, िेककि R सर् है



63. Consider the following statements 
1. Galaxies are the major building block of the universe. 

आकाशगींगाएँ ब्रह्माींड का प्रमिु निमायण िींड हैं।
2. Galaxies may be regular or irregular in shape. 

आकाशगींगाएँ आकार में नियलमत या अनियलमत हो सकती हैं।
3. Each galaxy comprises an average of 100 billion stars. 

प्रत्येक आकाशगींगा में औसति 100 अरब तारे होते हैं।
4. A galaxy is a huge mass of stars, nebulae and inter-stellar material. 

एक आकाशगींगा लसतारों, िीहाररकाओीं और अींतर-तारकीय सामग्री का एक 
ववशाि द्रव्यमाि है।

Which of the statements given above are correct? 
(a) 1, 3, and 4 (b) 1, 2,land 3 (c) 2, 3, and 4 (d) All of these 



64. The Pennines (Europe), the Appalachians (America) and the Aravallis 
(India) are examples of 
पेनिन्स (यूरोप), एपिाचर्यि (अमेररका) और अराविी (भारत) इसके उिाहरण हैं
(a) young mountains  / युवा पहाड़
(b) old mountains  / पुरािे पहाड़
(c) block mountains  / ब्िॉक पहाड़
(d) fold mountains  / गिुा पहाड़



65. Assertion (A) Venus is the brightest object in the sky after the Sun. 
Reason (R) Venus is the second planet from the Sun in our Solar 
System. 
अलभकिि (A) शुक्र आकाश में सयूय के बाि सबसे र्मकीिा वप ींड है। कारण (R) 
शुक्र हमारे सौर मींडि में सयूय से िसूरा ग्रह है।
Codes 
(a) Both A and R are true and R is the correct explanation of A 

A और R िोिों सत्य हैं और R, A की सही व्याख्या करता है
(b) Both A and R are true, but R is not the correct explanation of A

A और R िोिों सही हैं, िेककि R, A की सही व्याख्या िहीीं करता है
(c) A is true, but R is false  / A सर् है, िेककि R झठूा है
(d) A is false, but R is true  / A झठूा है, िेककि R सर् है



66. Which one of the following statements is not correct? 
निम्िलिखित में से कौि सा किि सही िहीीं है?

(a) All meridians run in a true North-South direction 
सभी मध्याह्ि रेिाएीं सही उत्तर-िक्षिण दिशा में र्िती हैं

(b) Meridians are spaced farthest apart at the Equator and converge 
to common points at the poles 
भमूध्य रेिा पर मेररडडयि सबसे िरू स्थित हैं और ध्रुवों पर सामान्य बबींिओुीं 
में पररवनतयत हो जाते हैं

(c) All meridians are always parallel to one another 
सभी मेररडडयि हमेशा एक िसूरे के समािाींतर होते हैं

(d) An indefinite number of meridians may be drawn on a globe
ग्िोब पर अनिस्चर्त काि के मध्याह्ि रेिा िीींर्ी जा सकती है



67. Global Positioning System (GPS) is associated with 
ग्िोबि पोस्जशनिींग लसथिम (जीपीएस) ककसके साि जडु़ा हुआ है

1. determining latitude and longitude. 
अिाींश और िेशाींतर का निर्ायरण।

2. constellation of satellites.  / उपग्रहों का िित्र।
3. US system of GPS and Russian system of GLONASS. 

जीपीएस की यूएस प्रणािी और ग्िोिास की रूसी प्रणािी।
4. Navigation. / पि प्रिशयि
Select the correct answer using the codes given below 
(a) 1, 2 and 4 
(b) 1 and 4 
(c) 2 and 3 
(d) All of these



68. Most of the communication satellites today are placed in a 
geostationary orbit. In order to stay over the same spot on the Earth, 
a geostationary satellite has to be directly above the 
आज अचर्काींश सींर्ार उपग्रह भसू्थिर किा में थिावपत हैं। पथृ्वी पर एक ही 
थिाि पर रहिे के लिए, एक भसू्थिर उपग्रह को सीरे् के ऊपर होिा र्ादहए
(a) Tropic of Cancer  / ककय  रेिा
(b) Either North or South Pole /  या तो उत्तर या िक्षिणी ध्रुव
(c) Equator   / भमूध्य रेिा
(d) Tropic of Capricorn  / मकर रेिा के ऊष्णकदिबींर्ीय िेत्र



69. Consider the following statements 
निम्िलिखित कििों पर ववर्ार करें

1. Big Bang Theory was proposed by E George Lamantor. 
बबग बैंग थ्योरी का प्रथताव ई जॉजय िमैैंिोर िे ककया िा।

2. According to this theory, our universe sprang into existence as 
singularity around 10 billion years ago. 

इस लसदर्ाींत के अिुसार हमारा ब्रह्माींड िगभग 10 अरब साि पहिे 'एकवर्ि' 
के रूप में अस्थतत्व में आया िा।
Which of the above statements is/are correct? 
उपरोक्त में से कौि सा/से किि सही है/हैं?
(a) Only 1 (b) Only 2 
(c) Both 1 and 2 (d) None of the above 



70. The Earth is an oblate spheroid and not a perfect sphere. This is because  / 
पथृ्वी एक र्पिा गोिाकार है और एक पूणय गोिा िहीीं है। यह है क्योंकक
1. the Earth has a rotational motion and the rotational speed increases as 

one goes from the poles towards the Equator.

पथृ्वी की घूणयि गनत होती है और ध्रुवों से बराबर की ओर जािे पर घूणयि गनत बढ़ 
जाती है

2. the equator experiences greater gravitational pull from the Sun.
भमूध्य रेिा सयूय से अचर्क गरुुत्वाकर्यण खिींर्ाव का अिुभव करती है।

3. the intensity of Sunlight received at the equator is greater than that of 
the poles. / भमूध्य रेिा पर प्राप्त सयूय के प्रकाश की तीव्रता ध्रुवों की तुििा में 
अचर्क होती है।

Select the correct answer using the codes given below 
(a) Only 1 (b) 1 and 2 (c) Only 3 (d) All of these 



71. Consider the following statements 
1. Supernova occurs in binary star systems in which gas from one 

star falls on to a white dwarf, causing it to explode. 
सपुरिोवा बाइिरी थिार लसथिम में होता है स्जसमें एक तारे से गसै एक 
सफेि बौिे पर चगरती है, स्जससे उसमें ववथफोि हो जाता है।

2. Supernova occurs in stars ten times or more as massive as the 
Sun, which suffer run away internal nuclear reactions at the ends 
of their lives, leading to an explosion. 
िाइप II सपुरिोवा लसतारों में सयूय से िस गिुा या उससे अचर्क बड़ ेपैमािे 
पर होता है, जो अपिे जीवि के अींत में आींतररक परमाण ुप्रनतकक्रयाओीं से िरू 
भागते हैं, स्जससे ववथफोि होता है।

Which of the statements given above is/are correct? 
(a) Only 1 (b) Only 2 (c) Both 1 and 2 (d) None of these 



72. Consider the following statements 
1. Stars are born in nebulae. / तारे निहाररका में पैिा होते हैं।
2. Stars expand as they grow old. 

जसेै-जसेै उम्र बढ़ती है लसतारे फैिते जाते हैं।
3. It will eventually collapse and explode. 

यह अींततः ढह जाएगा और फि जाएगा।
Which of the statements given above is/are correct? 
(a) Only 1 
(b) 1 and 2 
(c) 1 and 3 
(d) All of these 



73. Consider the following statements 
निम्िलिखित कििों पर ववर्ार करें

1. The nearest large galaxy of Milky Way is the Andromeda Galaxy.
आकाशगींगा की निकितम बड़ी आकाशगींगा एींड्रोमेडा आकाशगींगा है।

2. The Sun’s nearest known star is a red dwarf star called Proximal 
Centauri, at a distance of 4.2 light years away. 
सयूय का निकितम ज्ञात तारा एक िाि बौिा तारा है स्जसे समीपथि सेंिौरी 
कहा जाता है, जो 4.2 प्रकाश वर्य की िरूी पर है।

Which of the above statements is/are true? 
उपरोक्त में से कौि सा/से किि सत्य है/हैं?
(a) Only 1 (b) Only 2 
(c) Both 1 and 2 (d) None of these 



74. Consider the following statements 
1. Our Solar System is located in the Orion arm of the Milky Way 

galaxy, about two thirds of the way out from the centre. 
हमारा सौर मींडि लमल्की वे आकाशगींगा की ओररयि भजुा में स्थित है, जो 
कें द्र से निकििे वािे राथते का िगभग िो नतहाई है।

2. The Solar System formed from an interstellar cloud of dust and 
gas, or nebula, about 4.6 billion years ago. 
सौर मींडि िगभग 4.6 अरब साि पहिे र्ूि और गसै या िीहाररका के एक 
तारे के बीर् के बािि से बिा िा। 

Which of the statements given above is/are correct? 
ऊपर दिए गए कििों में से कौि-सा/से सही है/हैं?
(a) Only 1 (b) Only 2 
(c) Both 1 and 2 (d) None of these 



75. The summer and winter seasons in a year are caused by 
एक वर्य में गमी और सिी के मौसम ककसके कारण होते हैं

(a) aphelion (farthest) and perihelion (nearest) positions of the Earth 
from the Sun during the annual revolution. 
वावर्यक पररक्रमण के िौराि सयूय से पथृ्वी की उिासीिता (सबसे िरू) और 
पेरीहेलियि (निकितम) स्थिनत।

(b) rotation of the Earth on its axis 
पथृ्वी का अपिी र्ुरी पर घूमिा

(c) variation in solar insolation 
सौर सयूायतप में लभन्िता

(d) revolution of the Earth on its inclined axis. 
अपिी झकुी हुई र्ुरी पर पथृ्वी का पररक्रमण।



76. Which of the following are correctly matched? निम्िलिखित में से कौि 
सही सुमेलित हैं? 

Sun’s Layer Temperature सयूय की परत का तापमाि
1. Photosphere : 6000°C 
2. Centre : 15 million °C 
3. Sun spots : 15000°C 
Select the correct answer using the codes given below. 
िीरे् दिए गए कूि का प्रयोग कर सही उत्तर र्ुनिए।
(a) Only 1 
(b) 1 and 2 
(c) 1 and 3 
(d) All of these 



77. Consider the following statements 
1. Since, Venus is seen in the East in the morning and in the West in 

the evening, it is called „morning star as well as „evening star. 
र्ूँकक शुक्र पूवय में सबुह और पस्चर्म में शाम को दििाई िेता है, इसलिए इसे 
'सबुह का तारा' और 'शाम का तारा' भी कहा जाता है।

2. The Earth looks blue when seen from the outer space due to the 
presence of large amount of water, hence it is called „blue planet. 
बाह्य अींतररि से िेििे पर पथृ्वी िीिी दििाई िेती है, क्योंकक इसमें जि 
की मात्रा अचर्क होती है, इसलिए इसे िीिा ग्रह कहा जाता है। 

Which of the statements given above is/are correct?
(a) Only 1 (b) Only 2 
(c) Both 1 and 2 (d) Neither 1 nor 2 



78. Consider the following statements 
1. Mariner-10 and Messenger are the artificial satellites which 

surveyed the surface of the Mercury. 
मेररिर -10 और मसैेंजर कृबत्रम उपग्रह हैं स्जन्होंिे बुर् की सतह का सवेिण 
ककया।

2. Venus is often considered as Earth’s Twin because of proximity in 
size, mass and density to Earth. 
आकार, द्रव्यमाि और पथृ्वी के घित्व में निकिता के कारण शुक्र को अक्सर 
'पथृ्वी का जडु़वाीं' मािा जाता है।

Which of the above statements is/are correct? 
उपरोक्त में से कौि सा/से किि सही है/हैं?
(a) Only 1 (b) Only 2 
(c) Both 1 and 2 (d) None of these 



79. Consider the following statements 
1. Mars is tilted at 23° in the same way as the Earth, so experiences 

four seasons as Earth. 
मींगि पथृ्वी के समाि 23° झकुा हुआ है, इसलिए पथृ्वी के समाि र्ार 
ऋतुओीं का अिुभव करता है।

2. Like Earth, Mars has polar ice caps. 
पथृ्वी की तरह, मींगि के पास ध्रुवीय बफय  की िोवपयाीं हैं।

3. Mars has two Moons. 
मींगि के िो र्ींद्रमा हैं।

Which of the statements given above is/are correct? 
(a) Only 1 (b) 1 and 2 
(c) 2 and 3 (d) All of these 



80. Consider the following statements 
1. The distance from the Sun to Earth is called as an Astronomical 

Unit (AU). 
सयूय से पथृ्वी की िरूी को िगोिीय इकाई (AU) कहते हैं।

2. The Moon is probably created by a collision with a huge planet 
seminal more than 4 billion years ago. 
र्ींद्रमा का निमायण सींभवत: 4 अरब साि पहिे एक ववशाि ग्रह सेलमिि के 
िकरािे से हुआ है।

Which of the statements given above is/are correct? 
(a) Only 1 (b) Only 2 
(c) Both 1 and 2 (d) None of these 



61. (d) 71. (c)

62. (a) 72. (d)

63. (d) 73. (c)

64. (b) 74. (c)

65. (b) 75. (a)

66. (c) 76. (b)

67. (d) 77. (c)

68. (c) 78. (c)

69. (a) 79. (c)

70. (a) 80. (c)



62.


